@O TR (FY—HKG Rk KEE)

ST 8 A IKE g A R
BRNTE
¥R HH HAAL FEYEfE 4 H 6H
— L i il (o (1mLt) 1004 0 0 0 0 0
2 |k 1 B (MPN/100mL)| AgHEAELNSE 0 0 0 0 0
S rIv ARV ZOILAEY (mg/L)|  0.003mg/LLAT — — <0.0003 — —
Yk S R B E o L AWy (mg/L)| 0.0005mg/LEAT — — <0.00005 — —
Py Sle L v B B2 0k & W (mg/L)|  0.01mg/LLLT — — <0.001 — —
6len ® v 2 0o (vt & B (mg/L)|  001mg/LUT — — <0.001 — —
"t % % 0 2 0t & W (mg/L)|  0.01mg/LUTF — — <0.001 — —
8lx M v 1 A b & W (mg/L)|  0.02mg/LLLF — — <0.001 — —
Il m m o m % (mg/L)|  0.04mg/LT — — <0.004 — —
Ole 7o tvmare moshiibs 7o (mg/L)|  0.01mg/LUT — — <0.001 — —
OB | UL | e e 2 0 0 o6 o 0 M (mg/L)|  1ome/LUT — — 0.29 — —
215 v %2 % 02 0ot & W (mg/L)|  osmg/LUT — — <0.08 — —
" Blrxv i ruvzolaw (mg/L)|  1.0mg/LLAT - n 0.06 — —
i Wi s o o’ % (mg/L)|  0.002mg/LUT — — <0.0001 — —
fa;% 15 1/4;\ _1,2“/:3/721‘;11;% Vﬁ;&a (mg/L) 0.05mg/LLLF — — <0.001 — —
i 6|5y X190 vrnnxzFLy (mg/D)|  0.0amg/LulF — — <0.0001 — —
T =
?g we |y 7 v v 2 ox (mg/L)|  0.02mg/LLLF — — <0.0001 — —
H Bl L5 sy nw =5 L (mg/L)|  001mg/LIAT - — €0.0001 — —
YLy v o 0 = F L o (mg/L)]  001meg/LUT — — <0.0001 — —
20|~ v £ v (mg/L)|  0.01mg/LULT — — <0.0001 — —
21 |y # i (mg/L)|  0.6meg/LIAT <0.06 <0.06 <0.06 <0.06 <0.06
22|, o = i i (mg/L)|  0.02mg/LLLF — — <0.002 — —
21, m v kA A (mg/L)|  0.06mg/LLAF — — 0.0002 — —
Al wm om W W (mg/L)|  0.03mg/LLLF — — <0.002 — —
s Dl 7w ymm AR (mg/L) 0.1mg/LLLTF — — 0.0004 — —
gug§;§¢@ 26 | 4 it (mg/L)|  0.01mg/LLAT — - €0.001 — —
2Tl + v N m R m (mg/L)|  0img/LUT — — 0.0009 — —
A (mg/L)|  0.03me/LAT - — <0.002 — —
V|7 v w2 v a2y (mg/L)|  0.03mg/LLT — — 0.0003 — —
301 = * ZR % A (mg/L) 0.09mg/LLL T — — 0.0001 — —
s v 2 7 A F e F mg/L)|  008me/LuT — — <0.002 — —
S S A (mg/L)|  1.0mg/LIAT — — <0.005 — —
o Blrriz=v ik ozolka&w (mg/L) 0.2mg/LELT — — <0.01 — —
Mgk B 2 0 b & W (mg/L)|  03me/LLUTF B — 0.01 — —
Bl B 0 kAW (mg/L)|  1.0mg/LUT — — £0.01 — —
YRS SN R (mg/1)|  200me/LLLF — — 10 — —
(& Mo H RO Z DA W (mg/L) 0.05mg/LLL T — — <0.005 — —
%‘J Bl b w4 (mg/L)|  200me/LBITF 5.4 5.3 5. 1 5.1 5.3
i 39 o n e () (mg/1)|  300me/LLLF — — 110 — —
é; 40 |5 i 3 o Y (mg/L) 500mg/L LA T — — 228 — —
§ M o o R @ g (ng/L)|  02mg/LLIF — — <0.01 — —
g% B 2| e 7 A 2 N (mg/1.)] 0.00001mg/LLL T — — — — —
+ Blo-xF L4V R Z A — 1 (mg/1)| 0.00001mg/LLLT — — — — —
ffé WM ok R om (mg/L)| _0.02mg/LIUTF — — <0.005 — —
H| A= [4$6 = ,  — 1 om (mg/L)|  0.005me/LLLF <0.0005
46 1w (2 8 1 % % (100 © &) (mg/L) 3me/LELTF 0.1 0.1 0.1 0.1 <0.1
4 b H fi 5,850 8 65U 7.2 7.1 7.1 7.1 6.9
Ky | 19 ok REOHNIE NN NN NN LN NS LN NS
PR a9 5 = REEOHLIE Rl Rl sl Rl Rl
50 | ¢ £ () SEELLT 0.5 0.5 0.5 <0.5 <0.5
ol | Ei () 2EELIT <0.1 <0.1 <0.1 <0.1 <0.1
ik EofE 7% ool i # (mg/L) 0.1k 0.3 0.2 0.3 0.2 0.3

s RES OV (B 2 <0.001) 1E, AR GEE FRIERG) TholZ&EZRLTVET,

AT (/) X MAEDODEKNARERIEH THY ., TOHIIBREEITORN-T-Z 2R L TWET,




@ Al (b KigKS RiaKie)

ST 8 A IKE g A R
BRNTE
GaE HH HLAL HLrEfE 4 6 H
— L % il (1mL 7 1004 0 0 0 0 0
2 |k 15 (MPN/100mL)| BHEShANZE 0 0 0 0 0
S rIv ARV Z O A Y (mg/L)|  0.003mg/LLATF — — <0.0003 — —
Yk S R B E o LAWY (mg/L)| 0.0005mg/LEAT — — <0.00005 — —
Py Sle L v B B2 0k & W (mg/L)|  0.01mg/LLLT — — <0.001 — —
6len ® v 2 ot & B (mg/L)|  001mg/LUT — — <0.001 — —
"k % % 0 2 0ot & W (mg/L)|  0.01mg/LUTF — — <0.001 — —
8lx M v v A b & W (mg/L)|  0.02mg/LLLF — — <0.001 — —
Il o m o m % (mg/L)|  0.04mg/LT — — <0.004 — —
Ole 7o tvmar moshibs 7o (mg/L)|  0.01mg/LUT — — <0.001 — —
OB | UL | e e e s 0 0 o6 o 0 M (mg/L)|  1ome/LUT — — 0.41 — —
215 v 2 % 02 0ot & W (mg/L)|  osmg/LUT — — <0.08 — —
" Blrxv i ruvzolaw (mg/L)|  1.0mg/LLAT - n <0.01 — —
i Wi s o o’ % (mg/L)|  0.002mg/LUT — — <0.0001 — —
fa;% 15 1/4;\ _1,2“/:3/77‘11;1:7;?% Vﬁ;&a (mg/L) 0.05mg/LLLF — — <0.001 — —
i 6|5y X190 vrnnxzFLy (mg/D|  0.0amg/LulF — — <0.0001 — —
T =
?g we |y 7 v v 2 ox (mg/L)|  0.02mg/LLLF — — <0.0001 — —
H Blz L5 sy nw =5 L o (mg/L)|  001mg/LIAT - — <0.0001 — —
YLy v o 0 = F L o (mg/L)]  001mg/LAT — — <0.0001 — —
20|~ v £ v (mg/L)|  0.01mg/LLLT — — <0.0001 — —
21 |y % i (mg/L)|  0.6me/LAT <0.06 <0.06 <0.06 <0.06 <0.06
22|, o o i i (mg/L)|  0.02mg/LLLF — — <0.002 — —
21, wo o ok A N (mg/L)|  0.06mg/LT — — <0.0001 — —
Al y owm om W W (mg/L)|  0.03mg/LLLF — — <0.002 — —
s Dl 7w ymm AR (mg/L) 0.1mg/LLLTF — — 0.0002 — —
guig% 26 | & it (mg/L)|  0.01mg/LLATF — - €0.001 — —
2Tl + v N m R m (mg/L)|  0img/LUT — — 0.0003 — —
- (mg/L)|  003me/LAT - — <0.002 — —
V|7 v w2 v a2y (mg/L)|  0.03mg/LLT — — €0.0001 — —
301 = * ZR % A (mg/L) 0.09mg/LLL T — — 0.0001 — —
s v 6 7 A F e F mg/L)|  008me/LuF — — <0.002 — —
S L S A (mg/L)|  1.0mg/LIAT — — <0.005 — —
o Blrriz=vrig ozl a&Ww (mg/L) 0.2mg/LELT — — <0.01 — —
Mg v 2 o v & W (mg/L)| _ 0.3mg/LLLF — — <0.01 — —
Bl B O o kAW (mg/L)|  1.0mg/LUT — — £0.01 — —
YRS SN R (mg/1)|  200me/LLLF — — 5.7 — —
B e dr R zosw (mg/L)|  0.05mg/LUT — — <0.005 — —
%‘J Bl b w4 F (mg/L)|  200me/LBITF 3.6 3.4 3.6 3.5 3.5
it 39 e <k L) (mg/L)|  300mg/LLAT — — 66 — —
é; 40 |5 i 55 ¥ Y (mg/L) 500mg/LLLF — — 131 — —
Ejij 1d 41 e A 4 v R om i Al (mg/L) 0.2mg/LLLTF — — <0.01 — —
g% B 2 e 7 A 2 N (mg/1.)] 0.00001mg/LLL T — — — — —
+ Blo-2F L4V RV Z A — 1 (mg/1)| 0.00001mg/LLLT — — — — —
ffé I A A S (mg/L)| _0.02mg/LIUF — — <0.005 — —
H| A= [456 = , — 1 om (mg/L)|  0.005me/LLLF <0.0005
46 1w (2 4 1 % % (100 © &) (mg/L) 3me/LLLTF 0.1 0.1 0.1 0.1 <0.1
4 b H fi 5,850 8 65U 7.6 7.3 7.3 7.3 7.8
Ky | 19 Bk REOHNIE NN NN NN LN NS LN NS
PR a9 5 = REEOHLIE Rl Rl Rl Rl Rl
50 | ¢ Es () SEELLT 0.5 0.5 0.5 <0.5 <0.5
ol | Ei () 2EELLT <0.1 <0.1 <0.1 <0.1 <0.1
ik EofE 7% ol i # (mg/L) 0.1k 0.3 0.3 0.2 0.3 0.2

s RES OV (B 2 <0.001) 1E, A (EE FRIERG) TholZ&EZRLTHET,

ATy () IF RECHBMNFRELRHEATHY . TOHIEIMEZITORP ST LR L THET,




@ =HIE Ok HEPKIERAEKIE)

ST 8 A KB g A R
BRNTE
¥R HH HAAL FEYEAE 6 H
— L % (o (1mLh) 1004 0 0 0 0 0
2 |k 1 B (MPN/100mD)| #HEhANZE 0 0 0 0 0
S rIv ARV ZOILAEY (mg/L)|  0.003mg/LLATF — — <0.0003 — —
Yk S R B E o L AWy (mg/L)| 0.0005mg/LIAT — — <0.00005 — —
Py Sle L v B B2 0k & W (mg/L)|  0.01mg/LLLT — — <0.001 — —
6len ® v 2 0o (vt & B (mg/L)|  001mg/LUT — — <0.001 — —
"k % % 0 2 0ot & W (mg/L)|  0.01mg/LUT — — 0.002 — —
8 lsx i 7 = & W (mg/L)|  0.02mg/LUF — — <0.001 — —
O lm ® % (mg/L)|  0.04mg/LT — — <0.004 — —
Ole 7o tvmar moshiibs 7o (mg/L)|  0.01mg/LUT — — <0.001 — —
OB | UL | s e e 0 0 o6 o 0 M (mg/L)|  1ome/LUT — — 0.50 — —
215 v 2 % 02 0o {t & W (mg/L)|  osmg/LUT — — <0.08 — —
" Blrxv i ruvzolaw (mg/L)|  1.0mg/LLAT - n 0.08 — —
i o L G % (mg/L)|  0.002mg/LUT — — <0.0001 — —
fa;% 15 1/4;\ _1,2“/:3/77‘11;1:7;?% Vﬁ;&a (mg/L) 0.05mg/LLLF — — <0.001 — —
i 6|5y X 19-vrnnxzFLy (mg/)|  0.0amg/LulF — — <0.0001 — —
T =
?g we |y 2 v = z (mg/L)|  0.02mg/LLLF — — <0.0001 — —
H Bl L5 sy nw =5 L (mg/L)|  001mg/LIAT - — <0.0001 — —
YLy v o 0 = F L o (mg/L)]  001meg/LAT — — <0.0001 — —
20|~ v v (mg/L)|  0.01mg/LULT — — <0.0001 — —
21 |y % i (mg/L)|  06mg/LLUT <0.06 <0.06 <0.06 <0.06 <0.06
22 1, = o s (mg/L)|  0.02mg/LUT — — <0.002 — —
21, @w n A (mg/L)|  0.06mg/LT — — <0.0001 — —
2l »  wm BE W (mg/L)|  0.03mg/LLLT — — <0.002 — —
s Dl 7w ymm AR (mg/L) 0.1mg/LLLTF — — 0.0004 — —
gug§;§¢@ 26 | & it (mg/L)|  0.01mg/LLAT — - €0.001 — —
2Tl + v N m R m (mg/L)|  0img/LUT — — 0.0009 — —
28|y s & HE (mg/L)]  0.03mg/LUT — — <0.002 — —
V|7 v w2 v a2y (mg/L)|  0.03mg/LUT — — 0.0002 — —
301 = * JL N (mg/L) 0.09mg/LLL T — — 0.0002 — —
Slx 1o o 7 R (mg/L)|  0.08mg/LUTF — — <0.002 — —
S S A (mg/L)|  1.0mg/LIAT — — <0.005 — —
o Blrriz=wv ik ozolka&w (mg/L) 0.2mg/LELT — — <0.01 — —
Mgk 8 2 o (v & W (mg/L)| _ 0.3mg/LLLF — — <0.01 — —
Bl B 0 kAW (mg/L)|  1.0mg/LUT — — £0.01 — —
YRS SN R (mg/1)|  200me/LLLF — — 13 — —
B e dr R zosw (mg/L)|  0.05mg/LUT — — <0.005 — —
%‘J Bl 1w + (mg/L)|  200me/LBITF 7.0 7.0 7.2 7.3 7.2
i 39 o n e () (mg/1)|  300me/LLLF — — 110 — —
é; 40 |5 i g% W (mg/L) 500mg/LLLTF — — 208 — —
§ e ¢ o R @ g (ng/L)|  02mg/LLITF — — <0.01 — —
gg B 2| e 7 2 v (mg/1.)] 0.00001mg/LLLTF — — — — —
+ Blo-xF L4V R Z A — 1 (mg/1)] 0.00001me/LLT — — — — —
ffé I A A S (mg/L)| _0.02mg/LILTF — — <0.005 — —
Hop R 45, o ) L (mg/L)|  0.005mg/LLLF <0.0005
46 1w (2 4 1 % % (100 © &) (mg/L) 3me/LELTF 0.1 0.1 0.1 0.1 <0.1
47 D H 5.8 E8.6LLF 7.2 7.1 7.1 7.1 7.3
Ky | 19 Bk BEOHNIE NN NN NN HiL LN NS
PR 9 = REEOHLIE Rl sl sl H7aL Rl
50 | ¢ £ () SEELLT 0.5 0.5 0.5 <0.5 <0.5
ol | Ei () 2EELLT <0.1 <0.1 <0.1 <0.1 <0.1
AR LOWIE | i % (mg/L) 0111k 0.3 0.3 0.3 0.3 0.2

s RES OV (B2 <0.001) 1E, A GEE FRIERG) TholZ&EZRLTVET,

AT (/) X MAEDODEKNARERIEH THY ., TOHIIBREEITORN-T-Z 2R L TWET,




